OERARH TIRER/N N=18EFT

(F)
%

FIER s=1/1000

ZaAE MBS/ N=1EFT

(—) HAXTDER

QEmIZA MMERRE/ N=18FT i@ Mg E/N ] N=1¢

ZERARH (HUHY 1 N=16

=R AE R LR

DEMITH (HYHY ) BIEREME HZEKX N1

maER, o

N2 -
h
I 3
s Y
= \
c B\

W

Lo o o 4 ) wg 125 woamae % omEe |
\) DEMZH (HUHY ) #F - BIsviRai HEX N=18FH - p—
THER EHEBRA & LATEER
e EE
R 5=1/1000 [@Eﬁ%[ 1T s 4
SHE
FREE EBRBHLEREBDREBMB<=47>




T

fIER s=1/1000

(F) ISP thER

ERERER(AIAT - WHBNIREH A

OE TR THEMTEE | N=18Fr

ORRESIZH - MRS N=1Em

] mmm

. @M

R1=% HAXNHHI X - FEEl

I3

BHRE% (F) HOXNHHb
THER EHEBRA & LATEER
e EE
R 5=1/1000 [E Ei%[ 2 s 4
RHE

EEREBLRERERRIEMB=7>




FEERAR S=1/20

@

WAL S=1/20

{\

T 10052

$76.3x2.8t L=4000mm

o
=3
S

A O

i 100 ¢ x H500

T 10081

$76.3x2.8t L=4000mm

x

005

A=

BRERIREAT IS - L3R

BRI A

®

£® s=1/100

]

(<

250014

\ $76.3x2. 8t [=4000mm

005

006

00F

500%500

S=1/100

BIERER #EK@ S$=1/100

&

Edib e

I8 R1=%X HOXNNEHRM =X-BEM FHIH
BiRe%E (=) HOKXTIEF#Rit

THEEHR =HFERER A & LETAE fth

HE4 HBiER

#ER s=1/20 BES 3 - 4
=it4

]

BERENKERERRLIERM<ZIF>




AR S=1/20

200

mERAE S=1/20

$76.3x2.8t_L=4000m
R
S
£
"
g g

500+500

HHA=G

250080 I

585

IBFY;th R
21

BRI E S IRER RA

{{{{{{{

N\ $76.3x2.8t L=4000mm

500

006

=

500%500

A =®

uuuuuu

BRRE SRR

A

Edib e

I8 R1=%X HOXNNEHRM =X-BEM FHIH
BiRe%E (=) HOKXTIEF#Rit
TEER =HFERER A & LETAE fth
HE4 BiER
#ER s=1/20 BES 4 - 4
=it4

]

BERENKERERRLIERM<ZIF>




